NB-0315AADA

NON-ELEV. ALUM. 3 ROW x 15'-0" BLEACHER

WITH (2) ADA

DRAWING SHEET INDEX
Ccsa COVER SHEET

D1 SEATING PLAN

FP.1 FOUNDATION PLAN

ID.1 MASTER FRAME [.D.

BA.1 BLEACHER PREP

BA.2 BRACING LOCATIONS

AP.1 ANCHORING PLAN

PF.1 PLANK & FRAMING PLAN

VA1 VERTICAL AISLE ASSEMBLY
WC.1 WHEELCHAIR INSERT ASSEMBLY

d This drawing and all information contained herein
is the property of NATIONAL RECREATION SYSTEMS,
INC. and is not to be reproduced without the

. - express written permission of this manufacturer.
National Recreation syStems We assume no responsibility for unauthorized use

A P|AYCORE company of this drawing. NATIONAL RECREATION SYSTEMS,
1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN 46825 | INC. is not responsible for local permits and
PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET occupancy requirements.

PROJECT/SITE: NB—0315AADA

DESCRIPTION:  NON—ELEV. 3 ROW x 15'—0" ASSEMBLY PRINTS

orRawN BY: BMP  |oae: 9/10/18

REVISION:

SCALE: N, T.S. |SHEET NUMBER: (CS.1




SECTION GROsSS ACTUAL NO. OF NET
LENGTH SEATS SEATS ROWS SEATS

15 10.00 10.00 1 10
4.75 3.17 3.00 2 6
1.75 1.17 1.00 2 2

NET SEATS 18
WHEELCHAIR SPACES 2

TOTAL NET SEATING CAPACITY 20

(BASED ON 18" PER SEAT)

15’
6" — 4 6 4’
| [
3 . =
C ‘ C
|
|
(/ | (/
] w |—|
4’—9 5-6" ———— = 1'-9| =
12’ 3’
1 % 3
TYP. UNLESS
NOTED
OTHERWISE

National Recreation Systems
A P|AYCORE company

—NRS

1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN 46825
PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET

This drawing and all information contained herein
is the property of NATIONAL RECREATION SYSTEMS,
INC. and is not to be reproduced without the
express written permission of this manufacturer.
We assume no responsibility for unauthorized use
of this drawing. NATIONAL RECREATION SYSTEMS,
INC. is not responsible for local permits and
occupancy requirements.

PROJECT/SITE: NB—0315AADA

DESCRIPTION: - NON—ELEV. 3 ROW x 15'—=0" SEATING PLAN

DRAWN BY: BMP

oate: 9/10/18

REVISION:

SCALE: N, T.S.

SHEET NUMBER:

TD.1




o
5’ | 5 | 5’
. &
n —~ [~ END OF
TYP. O+ FRAMELINE
- +

\ \
\ \
\ \

5 —4" ‘ ‘
\ \
\ \
\ \

10'-8" S E———. S [ —

\ \
\ \
\ \ CONCRETE SLAB

54" I 53 | (TYP.)
\ \
\ \
\
| |

CONCRETE FOUNDATION SPECIFICATIONS

SCOPE:
Foundation construction is not part of NATIONAL RECREATION SYSTEMS, INC's., scope of work unless noted otherwise in the
contract documents. The OWNER shall review the foundation design with local code authorities and coordinate with NRS, Inc.

FOUNDATION DESIGN & ANCHORS:
1) The foundation designs are based on the following:
a) Minimum presumed soil bearing of 1000 psf.
b) Bleacher frame dead and live load of 700 lbs./ft.
¢) Bleacher frame wind uplift of 250 Ibs./ft.
2) Unless otherwise specified on the drawings the bleacher frames shall be attached to concrete with a %" dia. x 3" wedge type expansion
anchor. The anchors shall be embedded a minimum of 2" into the concrete.

CONCRETE SPECIFICATIONS:
1) All concrete construction shall be in accordance with ACI 318.08.

2) All concrete shall be air-entrained using an air entraining admixtruing meeting ASTM C620. Total air content: 5%-7% per ASTM C173.

3) All concrete shall have a minimum 28-day strength of Fc=3000psi. Concrete shall have air-entrainment

4) A Y4" bituminous expansion joint material shall be placed between strip and slab foundations when adjacent to each other.

5) The depressions in the top of the foundations between high spots shall not exceed %" below 10-foot long straightedge. The 10-foot
straightedge method used to measure foundation flatness shall be in accordance with ACI 302.1R-04 "Guide for Concrete Floor and Slab
Construction”.

CONCRETE SLAB RECOMMENDED SPECIFICATIONS:

1) Concrete slab shall have a minimum thickness of 5" (some areas may require 6") and placed on 4" of compacted

CONTROL JOINT

(TYP.) @

D CONCRETE SLAB SECTION

€0 CONTROL JOINT DETAIL

(1—1/2" CONCRETE TOP COVER)

6x6—-W2.1xW2.1 WELDED WIRE FABRIC*
7"
CONCRETE SLAB

gravel or compacted sub base. %" DEEP 1
2) NRS. INC., recommends that the concrete slab be reinforced with 6x6-W2.1xW2.1 welded wire fabric at 1)5" concrete / A 7 . / T ) r + 8" SAWCUT )
cover from the top. In lieu of welded wire fabric, steel fiber substitution requires OWNER approval and his understanding of T a . - v\ . < IR = T . =
potential maintenance issues. 7(7 . ’ A 4, 7 5 : o o 4 7
3) Contractor may substitute blended fiber reinforcing, provided the blend consists of multifilament polypropylene fibers . g - - } 4 9y, e . T
and cold drawn steel wire fibers. Novamesh 950 or approved equivalent, applied at a dosage rate of 51b/CY unless specified R L ' 4 L ar a9
otherwise or a different recommendation is made by the manufacturer. . E 4” < < -4
4) Crack control joints shall be sawed into slab to form approximate square patterns. The maximum spacing for control - ) * / i /
joints shall not exceed 13'-6", UNLESS INDICATED OTHERWISE. The bleacher frames shall not be set on control joints.
The designer shall contact NRS to coordinate joint spacing requirements with the specific bleacher design. COMPACTED SAND OR COMPACTED GRAVEL SUBBASE
5) The slab may be sloped a maximum of 1/8 inch per foot for drainage. The maximum overall out of level slope for the
slab perpendicular to the seats (front to rear) shall not exceed 2" and parallel to the seats (end to end) shall not exceed 4". * STEEL FIBER SUBSTITUTION REQUIRES OWNER APPROVAL
AND HIS UNDERSTANDING OF POTENTIAL MAINTENANCE
ISSUES.
d This drawing and all information contained herein
is the property of NATIONAL RECREATION SYSTEMS, PROJECT/SITE: NB—0315AADA
INC. and is not to be reproduced without the
. . express written permission of this manufacturer.
National Recreation Systems Wep assume no Eesponsibility for unauthorized use | DESCRIPTION: NON—ELEV. 3 ROW x 15=0" FOUNDATION PLAN
A [P|AYCORE company of this drawing. NATIONAL RECREATION SYSTEMS,
1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN46825 | INC. is not responsible for local permits and . . . .
PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET 5 ° oRawn BY: BMP  |oate: G /10/18 |RevisioN: SCALE:N.T.S. [SHEET NUMBER: FP.1

occupancy requirements.




3 ROW FRAME
(FA—03R1_06N)

3 ROW AISLE FRAME
(FA—ATO3R1_0BN)

2 ROW FRAME
(FA—02R1_0BN)

— NRS

National Recreation Systems
A P|AYCORE company

1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN 46825
PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET

This drawing and all information contained herein
is the property of NATIONAL RECREATION SYSTEMS,
INC. and is not to be reproduced without the
express written permission of this manufacturer.
We assume no responsibility for unauthorized use
of this drawing. NATIONAL RECREATION SYSTEMS,
INC. is not responsible for local permits and
occupancy requirements.

PROJECT/SITE: NB—0315AADA

DESCRIPTION: NON—FLEV. 3 ROW FRAME

IDENTIFICATION

DRAWN BY: BMP

oate: 9/10/18

REVISION:

SCALE: N, T.S.

SHEET NUMBER:

D.1




PRE-ASSEMBLE X-BRACE PAIR(S)

%7 X 17 x #e” ANGLE

%7 x H#e” FLAT BAR

ENSURE BOTH FLAT BAR AND B38114

ANGLE PIECES ARE THE SAME
LENGTH BEFORE ASSEMBLING

NOTE: DO NOT TIGHTEN BRACING HARDWARE
UNTIL ALL FRAMING AND BRACING HAS BEEN
ASSEMBLED AND CHECKED TO ENSURE THAT
T IS COMPLETE AND SQUARE.

ONCE FRAMING IS COMPLETE,
PRE-ASSEMBLE CLIP SETS ON BLEACHER FRAMES

C56112
(%" x 15" CARRIAGE BOLT) NOTE: ROTATE CLIPS 90" AS SHOWN PRIOR TO
MOUNTING PLANK, THEN LIFT AND ROTATE CLIP

SO THAT GROOVE IN CLIP IS SEATED PROPERLY.

CL-STD NOTE: LEAVE FLANGE NUT

LOOSE UNTIL CLIPS HAVE
BEEN SECURED TO PLANK.

FN38
(%6” FLANGE NUT)

OPTION A: SINGLE FOOT BOARDS
NOTE: CLIP SETS ON FOOT SUPPORTS MUST
BE MOUNTED TO HOLES SHOWN HERE TO

ENSURE CORRECT FIT WITH FOOT PLANK. ~

OPTION B: DOUBLE FOOT BOARDS

NOTE: CLIP SETS ON FOOT SUPPORTS MUST
BE MOUNTED TO HOLES SHOWN HERE TO
ENSURE CORRECT FIT WITH FOOT PLANK.

d This drawing and all information contained herein
is the property of NATIONAL RECREATION SYSTEMS,|PROJECT/SITE: NB—(0315AADA
INC. and is not to be reproduced without the
. . express written permission of this manufacturer. s "
National Recreation Systems We assume no responsibility for unauthorized use |PESCRIPTION:  NON—ELEV., 3 ROW x 15 -0 BLEACHER PREP
A [P|AYCORE company of this drawing. NATIONAL RECREATION SYSTEMS,
1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN 46825 | INC. is not responsible for local permits and . ) ) ) )
PH: 888-568-0064 FAX: 260-482-7449 WWW.BLEACHERS.NET | occupancy requirements. oRawN BY: BMP  [oae: 9/10,/18 |RevisioN: SCALE:N.T.S. [SHEET NUMBER: BA. 1




& TYP X—BRACE CONN. W/ 1% BOLT

ETYP 2x10 PLANK ATTACHMENT

ETYP 1x6 PLANK ATTACHMENT

BLEACHER FRAME
> / TYP X—BRACING

%" x 1%" HEX HD.

\érBOLT & FLANGE NUT

NOT TO SCALE

/

%s” x 1%" CARRIAGE BOLT

TYP. HOLD
DOWN CLIP

71

NOT TO SCALE

ﬂ;ﬁ/—%s" FLANGE NUT

m

| —TYP. HOLD DOWN CLIP
| —%e" x 1%” CARRIAGE BOLT

|—%e" FLANGE NUT

i

NOT TO SCALE L]

J

@ 2x10 SEAT PLANK
ROWS 1-3

[

)

1-3 ROW SEAT FRAME X

DBL. 2x10 FOOT PLANK

ROWS 2-3

s

@DBL 1x6 RISER PLANK

TOP

]

ROW ONLY

I
_—

ROWS 1-2

BAY
BAYS

@ 6'-0"
4’—3" X—BRACE

6’2" X—BRACE
@ 4-0

@ x4 RISER PLANK m

—NRS

National Recreation Systems
A P|AYCORE company

1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN 46825

PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET

This drawing and all information contained herein
is the property of NATIONAL RECREATION SYSTEMS,
INC. and is not to be reproduced without the
express written permission of this manufacturer.
We assume no responsibility for unauthorized use
of this drawing. NATIONAL RECREATION SYSTEMS,
INC. is not responsible for local permits and
occupancy requirements.

PROJECT/SITE: NB—0315AADA

DESCRIPTION:

NON—ELEV. 3 ROW x 15'—0" ASSEMBLY SECTION

DRAWN BY: BMP

pate: 9/10/18

REVISION:

scaLe:N.T.S.

SHEET NUMBER: BA.2




& WEDGE ANCHOR DETAIL — 37

ATTACH USING 3/8" x 3"
CONCRETE ANCHOR MIN. 2”
EMBEDMENT.

BASE OF UNIT
BEING ANCHORED

CONCRETE FOUNDATION

[\
ry ; — — = : I
< 4 4 a v 4 . 4 )
53" CONCRETE
MIN FOUNDATION
! BY OTHERS

— NRS

National Recreation Systems
A P|AYCORE company

1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN 46825
PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET

This drawing and all information contained herein
is the property of NATIONAL RECREATION SYSTEMS,
INC. and is not to be reproduced without the
express written permission of this manufacturer.
We assume no responsibility for unauthorized use
of this drawing. NATIONAL RECREATION SYSTEMS,
INC. is not responsible for local permits and
occupancy requirements.

PROJECT/SITE: NB—0315AADA

DESCRIPTION:  NON—ELEV. 3 ROW x ANCHORING PLAN

DRAWN BY: BMP

pate: 9/10/18

REVISION:

scaLe:N.T.S.

SHEET NUMBER:

AP.1




D TYP 2x10 ENDCAP ATTACHMENT

#8 x %" STAINLESS SCREW
2x10 PLANK (UP—SIDE DOWN) F
|
%
NOT TO SCALE 2x10 ENDCAP

) DBL. 2x10 ENDCAP ATTACHMENT

#8 x %" STAINLESS SCREW
2x10 PLANK (UP—SIDE DOWN)

DBL. 2x10

NOT TO SCALE ENDCAP

&) DBL. 1x6 ENDCAP ATTACHMENT

#8 x %" STAINLESS SCREW

(2) 1x6 PLANK
(UP—SIDE DOWN)

ENDCAP

NOT TO SCALE

B TYP 1x6 ENDCAP ATTACHMENT

#8 x %" STAINLESS SCREW
1x6 PLANK (UP—SIDE DOWN)

NOT TO SCALE 1x6 ENDCAP

2x10 ANODIZED TOP ROW
SEAT PLANK

2x10 ANODIZED SEAT PLANK
ROWS 1-2

DBL. 2x10 MILL FOOT PLANK
ROW 3

2x5 MILL H.C. PLANK
ROW 3

DBL. 2x10 MILL FOOT PLANK
ROW 2

DBL. 1x6 MILL TOP ROW
RISER PLANK

x4 MILL RISER PLANK
ROW 2

x4 MILL RISER PLANK
ROW 1

| 2x5 MILL STEP PLANK

‘ ROW 3

| 2x5 MILL STEP PLANK

‘ ROW 2

x4 MILL RISER ADA FILLER PLANK

\
|
! ROW 2
|

X—=BRACING ROW 3

/ ALL BAYS

15"—0" |
| |
4 —9” | 1"-9"
! 4&5 B = L
| | o ke
| | L
150" | [
EEY S |
TR R
! ! AB*WOWOOF)‘/ ! |
| — | TYP. 3 PLS. [ I
4 -9 49
4 -9 4 g’
! 4*5 BﬂH 4}*0”
| | [
| | | |
15" —0” [
15" —0" \
| \ | \
| | ] |
| 15'=0" | |
| i 57" }}i‘ﬁ
RBfo4o4/
4,79,, | TYP. 2 PLS. | 4,79,, (|
! *{&5 3%4« ‘ !
| | | |
|
A__Fq’
| + | 6 + |

—NRS

National Recreation Systems
A P|AYCORE company

This drawing and all information contained herein

INC. and is not to be reproduced without the
express written permission of this manufacturer.

of this drawing. NATIONAL RECREATION SYSTEMS,

1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN 46825 | INC. is not responsible for local permits and
PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET | occupancy requirements.

is the property of NATIONAL RECREATION SYSTEMS,

PROJECT/SITE: NB—0315AADA

We assume no responsibility for unauthorized use [DESCRIPTION: NON—FELEV. 3 ROW x 15—=0" PLANK & FRAMING PLAN

DRAWN BY: BMP

oate: 9/10,/18 |Revision: scAlE:N.T.S.

SHEET NUMBER:

PF.1




& TYP. AISLE BKT DETAIL ) FRONT AISLE H.R. BRACKET DETAIL[E TYP 2x5 ENDCAP ATTACHMENT

/M AISLE PLAN TYP. ALL ROWS CONTINUOUS DOUBLE 2x10 TYP. HOLD #8 x %" STAINLESS SCREW

CONTINUOUS DOUBLE 2x10 MILL FOOT PLANK -
MILL FOOT PLANK a5 ML DOWN CLIP 2x5 PLANK (UP—SIDE DOWN)
x5 M

BLEACHER FRAME 2x5 MILL AISLE PLANK
AISLE PLANK
2x10 SEAT PLANK

d

1 |
E g g
| | gl ] A DOUBLE 2x10
TYP. 5/16 AISLE STIFFENER
| | e | [ FOOT PLANK 1% —carRiAGE BOLT BRACK
| | | AND FLANGE NUT-| 1vp 5 /15 CARRIAGE
_ ' . g BOLT & FLANGE NUT. AISLE STIFFENER BRACKET 2%5 ENDCAP
‘ ‘ | \ NOT TO SCALE NOT TO SCALE TO ACCEPT AISLE HANDRAIL NOT TO SCALE
2x10 SEAT PLANK
|
S -
=/
245 AISLE STANDARD AISLE STIFFENER (DET. 2)
PLANK CENTER AISLE STIFFENER BRACKET
STANDARD AISLE BETWEEN SEAT PLANKS AS AISLE
STIFFENER (DET. 2) OVERHANGS MAY DIFFER
2 ROW AISLE HANDRAIL
(AH—2STEP_0624MS)
TYP. 1 PER AISLE
DETAIL A END OF AISLE

FRONT HANDRAIL ASSEMBLY SHOWN
LOCATE OVER REAR FOOT PLANK FOR REAR ASSEMBLY

HANDRAIL / FLANGE ASSEMBLY

2x5 AISLE PLANK V GALV. 3/8 x 3%" HEX HD BOLT
GALV. 3/8 FLAT WASHER

2x10 FOOT PLANK
2x10 FOOT PLANK

IR T T

, (4) %x3 HEX HEAD BOLT
GALV. 3/8” FLAT WASHER & FLANGE NUTS WITH \

CENTER AISLE
STIFFENER (2) AH—ANGLES

FLANGE NUT

HANDRAIL BRACKET
1x6 RISER (AH-ANGLE)

ALIGN EDGE OF FLANGE APPROX. 1/2" FROM THE
LEADING EDGE OF THE FRONT MOST CONTINUOUS
2x10 FOOT PLANK (NOT THE 2x5 AISLE STEP PLANK).
SLIGHTLY ADJUST FLANGE LOCATION, IF NECESSARY,

oo AT THE BOLT HOLE S NOT DRILLED IO A d This drawing and all information contained herein
VERTICAL LEG OF THE PLANK. DRILL ¢7/16" HOLES i wi ! ! ! ! .
(FOR 3/8" BOLT). ASSEMBLE AS SHOWN/ USING ALY is the property of NATIONAL RECREATION SYSTEMS,|PROJECT/SITE: NB—(0315AADA
: : INC. and is not to be reproduced without the
STEEL  BOLTS, FLAT WASHERS & FLANGE NUTS. . . R
National Recreation Systems express written permission of this manufacturer.
34 We assume no responsibility for unauthorized use [DPESCRIPTION: 3 ROW VERTICAL AISLE ASSEMBLY
A [P|AYCORE company of this drawing. NATIONAL RECREATION SYSTEMS,
1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN46825 | INC. is not responsible for local permits and . . . . .
PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET | occupancy requirements. oRawN BY: BMP | oate: 9/10/18 |Revision: SCALE:N.T.S. [SHEET NUMBER: VA1




S

T T[]

2x5 MILL ADA FILLER
PLANK W/NOSING
(5—9” LONG)
ATTACH TO AB—101005
USING TYP. CLIP SET

CONTINUOUS 1x4
MILL RISER PLANK
(ROW 2)

x4 MILL ADA RISER
/B PLANK (5’7" LONG)
(= ATTACH TO RB-0404

USING TYP. CLIP SET

DBL 2x10 MILL

FOOT PLANK
(ROW 3)

1 ]

ROW 2 CONTINUOUS

1x4 RISER

1x4 ADA RISER 5°=7 1/2" LONG

(NO ENDCAPS)

FRONT

DETAIL A
AB-101005
ATTACHMENT

DBL 2x10 MILL

VIEW

DETAIL B
RB-0404
ATTACHMENT
CONTINUOUS 1x4
MILL RISER PLANK
(ROW 2)
RB-0404

A FOOT PLANK
2x5 MILL H.C. FILLER (ROW 3)
K PLANK W/NOSING
(5'—9” LONG)

ATTACH TO AB—101005

USING TYP. CLIP SET

x4 MILL H.C. RISER

ATTACH TO ROW 2
x4 RISER PLANK

PLANK (5'—=7)4” LONG)
ATTACH TO RB—0404
USING TYP. CLIP SET

USING TYP. CLIP SET

AB-101005

ATTACH TO ROW 3
DBL. 2x10 FOOT PLANK
USING TYP. CLIP SETS

AB—101005

ATTACH TO ROW 3
DBL. 2x10 FOOT PLANK
USING TyP. CLIP SETS

— NRS

National Recreation Systems
A P|AYCORE company

1300-D AIRPORT NORTH OFFICE PARK FORT WAYNE, IN 46825
PH: 888-568-9064 FAX: 260-482-7449 WWW.BLEACHERS.NET

This drawing and all information contained herein
is the property of NATIONAL RECREATION SYSTEMS,
INC. and is not to be reproduced without the

PROJECT/SITE: NB—0315AADA

express written permission of this manufacturer.

We assume no responsibility for unauthorized use | DESCRIPTION:

WHEELCHAIR

INSERT ASSEMBLY

of this drawing. NATIONAL RECREATION SYSTEMS,
INC. is not responsible for local permits and
occupancy requirements.

DRAWN BY: BMP

pate: 9/10/18

REVISION:

scaLe:N.T.S.

SHEET NUMBER: W (. 1




